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	Trait
	Coefficient
	Std. dev.
	Lower 95%
	Upper 95%

	

A. Total instructions: = 0.66; = 0.94

	
	slope
	0.36
	0.32
	0.39

	
	intercept
	0.40
	0.36
	0.44

	
	residuals
	0.21
	0.19
	0.22

	

B. Proportion moves: = 0.58; = 1.0

	
	slope
	0.03
	0.03
	0.03

	
	intercept
	0.59
	0.53
	0.66

	
	residuals
	0.13
	0.12
	0.14

	

C. Proportion turns= 0.23; = 0.97

	
	slope
	2.13e-9
	1.90e-9
	2.35e-9

	
	intercept
	0.66
	0.59
	0.73

	
	residuals
	0.23
	0.21
	0.24

	

D. Proportion looks: = 0.11; = 0.95

	
	slope
	0.20
	0.18
	0.22

	
	intercept
	0.94
	0.85
	0.1.04

	
	residuals
	0.10
	0.09
	0.10
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